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You can say; it is a 221 9p — 297 R NIBAR

Overview

773 12 0K taught that 2512 w2 is 77°582 MR for we derive it through a
MY 771 from 72°21. The X723 continues that we know that 25m2 2wa is also
TRI72 MoK from a 1"'p from 797w, Our MoHOIN questions the efficacy of a 1"p
being able to override a w".

— 1Y NN YPIRY 1IN P DIYN 950 NN
It is astounding! How can a "' be sufficiently powerful to prevent the

w''ta from taking effect -
— 1193 995 ANINA YONN NIY NIY N2 NN 99T

For we should derive from ;1921 through a @''13 that 2572 w2 should not
be 1IX1772 70K just as a 79931 is X172 Nn!

mooIn bolsters his question:
-ANINA YO NY 29N2 1WA 9309 5590 49957 NIN KIN (107 pom TWAN 93 79929
For in =wan ®> p1o there is indeed a Xin who derives this and therefore

maintains that 2572 2w2 is not 7372 MMON. What is the reason for others who
maintain that it is X372 MOXR? Why do they not derive X317 n°77 from this w"ra?!

Mo0IN answers:
— RN DN 2) 172 29D VTP YVINT SN‘!‘P NYNNAT 0N 1”29 MIINY

And the n'9 answers; since in that P2 of w7p “wiR, there are also

included other N2 991938 (M0 explains which X377 *MO°X are included) -
_ Shsshnk N INSY DU 19T ATYa Twant

' mooin is referring to the w"m of wMp WP which is mentioned here in the X3 which compares 2212 w2
to (77°21) [19°7w; see 2721 13"7 X,75 2"w1]; just as 77°21 is MOK s0 too is MOXR 2772 w3, A 1"p is based on
logic; it can be created as needed. A w"3, on the other hand, must be handed down by tradition from °1°0 ;1.
It is therefore understood that a w"13 is more ‘powerful’ that a 1"p. The w"1 from 719721 must be carried out
completely in all aspects, including 7837 20> (just as 77°21 is X372 1K the same applies to 2712 w32), for
there is a rule that 721 w"13 1°X (there is no half-way w"13).

% That x3n utilizes the w"T of W7 WP to teach that 25m2 w2 is X172 NI as 3902 is.

3 The P09 in 9,20 (D wown) NN reads 179RN K7 79°70 77W WA 07 11970 WP WKL The word 77w32 in 21N
is X173, meaning outside. We derive from this 105 that ‘meat’ which is found outside its designated place
(including 17> X*¥1W 721 [see n"11 7" X,23 "w1] and NN I RYW W) is included in this Y.

4 See " 7"7 >"w and MK 7"7 MOOIN on R,20 Q7.

> This refers to M1y that were taken out of their designated place. 0°9p o'w7p for instance have to be
within the walls of 2°2w17> (this is their 'y nn'). If they were taken outside 2°9w1° the 129p may not be
eaten, it is X172 MMOK, and has to be burnt.
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For from the 7109 of n7w2 w2 we derive the 710°X concerning 2%w7p that

went of their restricted area, in which case they become 7109 (and 7X372 70X) and
are required to be burnt. It is therefore questionable how we should interpret this "1
should we compare 2772 W2 to 19> and be °nn it X172, or should we compare w2
253 to XN YN IREW 2w and be 10N it IXITA -

— (NH22319) XD DIVTPN 1929907 999N I 19 99N

So the v"'p (from 197V) informs us to derive 27172 w2 from 2°w7p (that it is
X372 MOKR) and not from 779921 (which is X372 NN).

nvoIn asks:
— %z‘mmb 1350713 ) 99N D NDA 9NN ON)Y

And if you will say; without the 1"'p from 7579, we would compare it to

the more stringent mox. Therefore without the 1"p we know that 25ma w3 is to be
compared to 2°w7p which are X172 OK as opposed to 79°70 which is X172 M. Why is
there a need for a 1"p?!

N1B0IN answers:
— N9YDY $IWPNY TNYT XPYD NINT 91019 U

And one can say that despite the rule of 11°wpn X217, nevertheless here we
would have thought that we should compare 2772 7w2 in a more lenient

manner to 197 which is X172 NN -
— N 11:’7\'):1 29555 29Nn57 AN AN NP2 NN ¥NINT OIVN

Because the 118377 70977 is explicitly stated in the p1o5; for it is written 25%5%

MR N9wn, indicating a X1 oA’ The 1"p teaches that despite this X120 we are
nevertheless X217 wpn (for 2972 w32 is more A0 than 7%7Y [which is X372 70K]).

mooin asks an additional question:

— NN DN NDIIN DN 95N 139999 KDY INNN W7IDNNT APpyd 290 NWPN
The 2" 1997187 "' asked why we do not derive 779758 79098 and 7837 TR
from =0 through the 7w 7713 of -

—*wrp w1pn
TP WIP; the word wp is written’ by 201 and wTp is written by 2912 w2 (as the &)

mentions here); just as N1 is IR 72°I82 MNOX so too should 27m2 w2 be 79282 TOK
RITY.

® There is a general rule that wherever we can be X2 wopn or X21P7 we are RI? wpn (see R,M Mn2Y).
See ‘Thinking it over # 1.

" The ax37 MO°X of 1NX*MNY YN IRYw 0w is not derived from this 105 of 77w2 w2y, rather the MOKR stems
from the general rule the 77> WTP2 1709w 93 (see NN 7"7 X,25 M5OI who cites the X3 on R,72).

% It will not be necessary to utilize the 799¥% 1"p (and also not deal with the original question of m9o1n; how
can a1"p be ¥°pon from a w'"1).
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mooIn supports his question that there is a valid w" of w7p by "nu:
— Y NI VI9T 9PNT V1P XnNnT

For from the word w7 that is written by an1 it is used for a w''7x -
— (3,02 nan) TEINATN Y P93 (x,0n nawy NI AN P93

in the 77293 2% pa» and in the 2°m2177 ©> P=5. This proves that w7p is a valid
w"r for anM.

N1B0IN answers:
— 593N NYYTP NPT 1NN 1938 1NV 190WT UTP SWIND WITD BY XINT 119 Y5

And one can say; that here we derive the 705 of 7P 2y (which is written
by 2512 qw32) from the 7105 of wTp "wiR (which is written by 179°21) for they
are one and the same concept, namely that the 7w 7» refers to the

personu; however by 7n1 the term w7p refers to the w2 that is being eaten and not to
the person eating it. The preferred "1 is people to people not people to objects.

Mmoo offers an alternate solution why we do not derive a "1 from n:

05w 1PN 1P9IN 1937 PN PP9INK PYIN 1931 93 N
Or you may also say; one derives unsanctified items (2712 "w2) from
unsanctified items (79°70) but one does not preferable derive 3917 from

2%7P (meaning IM1). Therefore the w"ra of 2912 w2 from 777°21 is preferred over the
w"m of 25m2 w32 from M.

Summary
The 1"'p from 779¥ teaches us that the w"1 of wIp w7p applies to NXW WP

1% yan rather that to 1970, The 1'p is necessary, since the R On°7 is
stated explicitly in the ?108. It is preferable to utilize those w"73 in which the
two 0’2109 are more similar (either in their reference or contexts) than those
which are less similar.

Thinking it over

’In 79,72 (7XN) MY it is written X177 WP °3 DR KD WRA IMIT DR DD "N ORI WAN N DX

10 The xm3 there (on 2,un) derives that the accumulated congealed wine of the 2301 is burnt w73, through
a wp wip w'"n of o°01 from M.

"' The xm» there derives that the punishment of n1> (in the P09 of 7N7211 521 17 WP DR 23 RW” MY PHIINT)
applies to 117 Y1 79°9K through a wip wIp W' from .

2 %175 0¥ means a ‘holy people’ and wTp *wix means ‘holy men’; the 7wTp is referring to the persons who
are forewarned not to eat; not to an object as is the case by 1.

" See “Thinking it over’

'* See x"wamn that this answer also explains why we would have chosen the X21p% W' since it is 727
hiraisto}
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1. The rule is x> jwpn;” is that because in every XN™MIXT po0 we go
RIS, or is it a rule in the laws of wp 2"

2. MooIn answers that we do not derive the 2512 w2 MoK from 013 (instead
of 719™1) because 131 1217 19991 1917.17 However maon already taught us that
we derive the X317 MR of 22M2 w2 from JNXTAS I Ww Dwp?!'

15 See footnote #

16 See Hrmw 127.

17 See footnote # 13.

'8 See 02K 9K and 0w 1217 in D MR TR R"wR. (See also ¥p MR N 2"n.)
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